OBE®REEM/FHN mENRR

BRERFN-MEFRA HE—RBFIEREERE (FH6E

1081 HEFR)

(72]

EBRLER. AR ERXELEERONBEZERLTHIERRES —ELRLLUEOEREERTIETIEEMBEEFELTIEE
NEXEEME 143 28 0 115 HREERMERERE (O X ERE) 5 2 0 3
REEFHEE—IERF 131 31 0 100 EHBERMERER (Z0M) [FE—#] 5 2 0 3
Y EIT ABHE 86 4 2 84 THER AL R 45 17 3 S BR [ B AR B R B i & St BR ] 4 0 0 4
PR AP EE—ERET 80 12 3 71 Oraclez® & 1§ 1 0 0 1
IR B M EEBHE 79 3 3 79 N &t 15 4 0 11
HERR AP EE —ERET 49 11 0 38 | |EREOBERRATRIOITSLRUXY)7HRERETOTSL
REBHEE _FERET 36 2 0 34 BEEBRNEHTOTSLGRDRE) (Z04t) [HFE—#] 9 3 1 7
REGHRBEBERET 25 2 2 25 BEEBNER IOV SLGFRDORE) HERF -2 [FE—K] 8 0 3 11
ZEEBEE B8R 25 6 0 19 BEEBRNDFERTOT 5L GEFIORE) (RE) (HFE—] 8 0 0 8
BRI 5 ETHEE T 21 4 0 17 BEERNEHTOTSLGERDORE) (TF-ITX) [HE—HK] 7 0 0 7
rEERAL T (RBEERPHE) X 1208 fE K i DERTE 15 0 3 18 BEEBRANABERTIOT 5L R OFEE) (HE) (HFE—K] 4 0 1 5
[TABI5EF 14 2 1 13 BERBRNDERTOISLEFIOERE) (BE-BH) [HE—#] 2 0 0 2
et A EHEMMEKE 9 0 0 9 BEEBRNAERTOT LG DORE) (NXEZE- AX) [HFE—HR] 1 1 0 0
EMEVERS | L EIRHER 7 0 0 7 BEEERNEHTOTSLGRIDORE) (EH) (FHFE—#] 1 0 0 1
ftefEdt L 6 0 0 6 Fr)TRBARET DT S L R DERERE) (L HEER) (HFE — ] 1 0 0 1
BT ERIMTEHER 4 1 0 3 N &t 41 4 5 42
ol Tk 3 0 0 3 | |&&t 801 116 20 705
TA—DV) OB REEE 3 0 0 3
EhMRAEEE 3 0 0 3
REL 2 0 1 3
INREEI VL — U HiREES 2 0 0 2
HEREFH L AR 1 1 0 0
BHERTE 1 1 0 0
I 745 108 15 652
O#ERFRA $BERR
it i B 45 0 1 46 % = = 3 3 0 0
=] # = 5 0 0 5 R #n FF 19 1 0 18
=) F = 12 0 3 15 X PR FF 48 2 1 47
= 11 = 33 0 0 33 e=3 & =B 22 2 0 20
o H =B 10 6 0 4 = R =B 3 1 0 2
L fiz R 25 4 3 24 0 B L R 10 0 0 10
2 5 =2 9 0 0 9 5 R g 7 0 0 7
xR bk s 12 1 0 11 = 1R =B 3 0 0 3
Hh X = 6 4 0 2 [ I = 13 3 0 10
it 23 = 13 0 0 13 I 5 = 69 4 1 66
3 x R 35 2 1 34 1 = ) 8 0 0 8
=3 =B 13 4 0 9 & 5 (] 34 17 0 17
= #R 107 8 6 105 & N = 2 0 0 2
4 = )i = 27 2 0 25 E 1 = 17 6 0 11
# P2 s 60 7 0 53 = 0 = 6 1 0 5
= L (] 3 0 0 3 2 fi] (] 29 13 2 18
a n = 8 0 0 8 1% = g 1 1 0 0
= F* R 3 0 0 3 & 55 =R 10 4 0 6
L e ) 5 5 0 0 5 A =1 7 4 1 4
p 3 # =B 1 0 0 1 X ) g 6 0 0 6
57 L] = 7 0 0 7 = I = 12 0 0 12
i fi] = 11 2 0 9 3 U5 5 =] 6 6 0 0
& p3I =2 11 1 0 10 pad e = 3 2 0 1
= -] = 2 0 1 3 a & 801 116 20 705




